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p.57
import io.reactivex.Observable;

public class Launcher {
public static void main(String[] args) {
Observable{String) source =
Observable.just("Alpha", "Beta", "Gamma", "Delta", "
source.map(String: :length) filter(i = i )= 5)
.subscribe(s = System.out.printin("RECEIVED: " + s));

Epsilon");

}
}

-

import io.reactivex.Observable;

public class Launcher {
public static void main(String[] args) {
Observable{String) source =
Observable.just("Alpha
source.map(String: :length)
filter(i =i )=15)
.subscribe(s = System.out.printin("RECEIVED: " + s));

, "Beta", "Gamma", "Delta", "Epsilon");

p.60

//do nothing with Disposable, disregard for now
=

/IR IS CIAZXNES AHBSIX| $=Ct.

p.68
JavaFX0l|l A Observable.create()& AF23H ToggleButton2] selectedProperty() HAXIE AF23H Observable

(Boolean)= 2t& 4= QICL.
=
JavaFXOIA Observable.create()2t ToggleButton?2| selectedProperty() HAIXIE A5 Observable

o

(Boolean)2 2t= £ L.

p.76
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p.80
RxJava SMHE2 FuturesECH A&t HESI=0| FO{LICH, O2{Lt FuturesE dteltst= 7|1E 2l0|E2{2]7t

= AL Observable.future()S S35l Observables2 &7 HEs 4= UL}

=
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22|7} U= AR Observable.fromFuture()S Salf SHHERZ &A| HEKE £~ Q).
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p.133

import io.reactivex.Observable;
public class Launcher {

public static void main(String[] args) {
Observable.range(1, 1000)
.toList(1000)
.subscribe(s = System.out.printin("Received: " + s));
}
}

—

import io.reactivex.Observable;
import java.util.concurrent.CopyOnWriteArrayList;

public class Launcher {

public static void main(String[] args) {
Observable.just("Alpha", "Beta", "Gamma", "Delta", "
toList(CopyOnWriteArrayList: :new)

.subscribe(s = System.out.printin("Received: " + s));

Epsilon")




p.144

import io.reactivex.Observable;
public class Launcher {

public static void main(String[] args) {
Observable.just(5, 2, 4, 0, 3, 2, 8)
.map(i=10/1)
.onErrorReturnitem(—1)
.subscribe(i = System.out.printin("RECEIVED: " + i),
e = System.out.printin("RECEIVED ERROR: " + e)

);

}

}

g

import io.reactivex.Observable;
public class Launcher {

public static void main(String[] args) {
Observable.just(5, 2, 4, 0, 3, 2, 8)
.map(i= 10 /i)
.onErrorResumeNext(Observable.empty())
.subscribe(i = System.out.printin("RECEIVED: " + i),
e = System.out.printin("RECEIVED ERROR: " + e)
);




p.145

import io.reactivex.Observable;
public class Launcher {

public static void main(String[] args) {
Observable.just(5, 2, 4, 0, 3, 2, 8)
.map(i=10/1)
.onErrorReturn(e = —1)
.subscribe(i = System.out.printin("RECEIVED: " + i),
e = System.out.printin("RECEIVED ERROR: " + e)

);

}

}

g

import io.reactivex.Observable;
public class Launcher {

public static void main(String[] args) {
Observable.just(5, 2, 4, 0, 3, 2, 8)
.map(i= 10 /i)
.onErrorResumeNext((Throwable €) = Observable.just(—1).repeat(3))
.subscribe(i = System.out.printin("RECEIVED: " + i),
e = System.out.printin("RECEIVED ERROR: " + e)
);




p.146

import io.reactivex.Observable;
public class Launcher {

public static void main(String[] args) {
Observable.just(5, 2, 4, 0, 3, 2, 8)
.map(i = {
try {
return 10 / i;
} catch (ArithmeticException e) {
return —1;
}
D
.subscribe(i = System.out.printin("RECEIVED: " + i),
e = System.out.printin("RECEIVED ERROR: " + e)
);

}
o

import io.reactivex.Observable;
public class Launcher {

public static void main(String[] args) {
Observable.just(5, 2, 4, 0, 3, 2, 8)
.map(i=10/1)
retry()
.subscribe(i = System.out.printin("RECEIVED: " + i),
e = System.out.printin("RECEIVED ERROR: " + e));




p.147

import com.google.common.collect.ImmutableList;
import io.reactivex.Observable;

public class Launcher {

public static void main(String[] args) {
Observable.just("Alpha", "Beta", "Gamma", "Delta", "Epsilon")

.collect(ImmutableList: : builder, ImmutableList.Builder: :add)

.map(ImmutableList.Builder: : build)

.subscribe(s —) System.out.printin("Received: " + s));

}
-

import io.reactivex.Observable;
public class Launcher {

public static void main(String[] args) {
Observable.just(5, 2, 4, 0, 3, 2, 8)
.map(i—=) 10 /i)
retry(2)
.subscribe(i —) System.out.printin("RECEIVED: " + i),
e —) System.out.printin("RECEIVED ERROR: " + e));




p.149
import io.reactivex.Observable;

public class Launcher {

public static void main(String[] args) {
Observable.just(5, 2, 4, 0, 3, 2, 8)
.map(i= 10 /i)
.subscribe(i = System.out.printin("RECEIVED: " + i),
e = System.out.printin("RECEIVED ERROR: " + e)
);

}
-

import io.reactivex.Observable;
public class Launcher {

public static void main(String[] args) {

Observable.just("Alpha", "Beta", "Gamma", "Delta", "Epsilon")
.doOnNext(s = System.out.printin("Processing: " + s))
.map(String: :length)

.subscribe(i = System.out.printin("Received: " + i));




p.150
import io.reactivex.Observable;

public class Launcher {
public static void main(String[] args) {

Observable.just(5, 2, 4, 0, 3, 2, 8)
.map(i= 10 /i)
.onErrorReturnitem(—1)
.subscribe(i = System.out.printin("RECEIVED: " + i),
e = System.out.printin("RECEIVED ERROR: " + e)
);

}
—

import io.reactivex.Observable;
public class Launcher {

public static void main(String[] args) {
Observable.just("Alpha", "Beta", "Gamma", "Delta", "Epsilon")
.doOnCompilete(() = System.out.printin("Source is done emitting!"))
.map(String: :length)

.subscribe(i = System.out.printin("Received: " + i));




p.150~151

import io.reactivex.Observable;
public class Launcher {

public static void main(String[] args) {
Observable.just(5, 2, 4, 0, 3, 2, 8)
.map(i= 10 /i)
.onErrorReturn(e = —1)
.subscribe(i = System.out.printin("RECEIVED: " + i),
e = System.out.printin("RECEIVED ERROR: " + e)
);

}
—

import io.reactivex.Observable;
public class Launcher {

public static void main(String[] args) {
Observable.just(5, 2, 4, 0, 3, 2, 8)
.doOnError(e = System.out.printin("Source failed!"))
.map(i=10/1)
.doOnError(e = System.out.printin("Division failed!"))
.subscribe(i = System.out.printin("RECEIVED: " + i),
e = System.out.printin("RECEIVED ERROR: " + e));




p.152
import io.reactivex.Observable;

public class Launcher {

public static void main(String[] args) {
Observable.just(5, 2, 4, 0, 3, 2, 8)
.map(i = {
try {
return 10 / i;
} catch (ArithmeticException e) {
return —1;
}
D
.subscribe(i = System.out.printin("RECEIVED: " + i),
e = System.out.printin("RECEIVED ERROR: " + e)
);

}
-

import io.reactivex.Observable;
public class Launcher {

public static void main(String[] args) {
Observable.just("Alpha", "Beta", "Gamma", "Delta", "Epsilon")

.doOnSubscribe(d = System.out.printin("Subscribing!"))

.doOnDispose(() = System.out.printin("Disposing!"))

.subscribe(i = System.out.printin("RECEIVED: " + i));




p.153~154

import io.reactivex.Observable;
public class Launcher {

public static void main(String[] args) {
Observable.just(5, 2, 4, 0, 3, 2, 8)
.map(i= 10 /i)
.onErrorResumeNext(Observable.just(—1).repeat(3))
.subscribe(i = System.out.printin("RECEIVED: " + i),
e = System.out.printin("RECEIVED ERROR: " + e)
);

}
—

import io.reactivex.Observable;
public class Launcher {

public static void main(String[] args) {
Observable.just(5, 3, 7, 10, 2, 14)
.reduce((total, next) = total + next)
.doOnSuccess(i = System.out.printin("Emitting: " + i))
.subscribe(i = System.out.printin("Received: " + i));

p.165
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p.222

import io.reactivex.subjects.ReplaySubject;
import io.reactivex.subjects.Subject;

public class Launcher {
public static void main(String[] args) {
Subject{String) subject =
ReplaySubject.create();
subject.subscribe(s = System.out.printin("Observer 1: " + g));
subject.onNext("Alpha");
subject.onNext("Beta");
subject.onNext("Gamma");
subject.onComplete();
subject.subscribe(s = System.out.printin("Observer 2: " + s));

}
}

g

import io.reactivex.subjects.BehaviorSubject;
import io.reactivex.subjects.Subject;

public class Launcher {
public static void main(String[] args) {
Subject{String) subject = BehaviorSubject.create();
subject.subscribe(s = System.out.printin("Observer 1: " + s));

subject.onNext("Alpha");
subject.onNext("Beta");

subject.onNext("Gamma");

subject.subscribe(s = System.out.printin("Observer 2: " + s));




p.223

import io.reactivex.subjects.AsyncSubject;
import io.reactivex.subjects.Subject;

public class Launcher {
public static void main(String[] args) {
Subject{String) subject = AsyncSubject.create();
subject.subscribe(s = System.out.printin("Observer 1: " + s),
Throwable: : printStackTrace,
() = System.out.printin("Observer 1 done!")

subject.onNext("Alpha");

subject.onNext("Beta");

subject.onNext("Gamma");

subject.onComplete();

subject.subscribe(s = System.out.printin("Observer 2: " + s),
Throwable: : printStackTrace,
() = System.out.printin("Observer 2 done!"));

}
}

g

import io.reactivex.subjects.ReplaySubject;
import io.reactivex.subjects.Subject,

public class Launcher {
public static void main(String[] args) {
Subject{String) subject = ReplaySubject.create();
subject.subscribe(s = System.out.printin("Observer 1: " + s));
subject.onNext("Alpha");
subject.onNext("Beta");
subject.onNext("Gamma");
subject.onComplete();
subject.subscribe(s = System.out.printin("Observer 2: " + s));




p.224

import io.reactivex.Observable;
import io.reactivex.subjects.Subject;
import io.reactivex.subjects.UnicastSubject;

import java.util.concurrent. TimeUnit;

public class Launcher {
public static void main(String[] args) {

Subject(String) subject = UnicastSubject.create();
Observable.interval(300, TimeUnit.MILLISECONDS)
.map(l = ((I + 1) * 300) + " milliseconds")
.subscribe(subject);
sleep(2000);
subject.subscribe(s = System.out.printin("Observer 1: " + s));

sleep(2000);
}

public static void sleep(long millis) {
try {
Thread.sleep(millis);
} catch (InterruptedException e) {
e.printStackTrace();
}
}
}

—



import io.reactivex.subjects.AsyncSubject;
import io.reactivex.subjects.Subject;

public class Launcher {
public static void main(String[] args) {
Subject(String) subject = AsyncSubject.create();

subject.subscribe(s = System.out.printin("Observer 1: " + s),
Throwable: : printStackTrace,
() = System.out.printin("Observer 1 done!")

);

subject.onNext("Alpha");
subject.onNext("Beta");
subject.onNext("Gamma");
subject.onComplete();

subject.subscribe(s = System.out.printin("Observer 2: " + s),
Throwable: : printStackTrace,
() = System.out.printin("Observer 2 done!"));




p.226

import io.reactivex.Observable;
import io.reactivex.subjects.Subject;
import io.reactivex.subjects.UnicastSubject;

import java.util.concurrent. TimeUnit;

public class Launcher {
public static void main(String[] args) {
Subject{String) subject =
UnicastSubject.create();
Observable.interval(300, TimeUnit.MILLISECONDS)
.map(l = ((I + 1) * 300) + " milliseconds")
.subscribe(subject);

sleep(2000);
[/ 72| SXMHE X|§5H7| fai HEIFHAE
Observable{String) multicast = subject.publish().autoConnect();

[/ H SXHHE S2
multicast.subscribe(s = System.out.printin("Observer 1: " + s));

sleep(2000);

//5 U SXHE S8
multicast.subscribe(s = System.out.printin("Observer 2: " + s));
sleep(1000);

}

public static void sleep(long millis) {
try {
Thread.sleep(millis);
} catch (InterruptedException e) {
e.printStackTrace();
}
}
}

—



import io.reactivex.Observable;
import io.reactivex.subjects.Subject;
import io.reactivex.subjects.UnicastSubject;

import java.util.concurrent. TimeUnit;

public class Launcher {
public static void main(String[] args) {

Subject{String) subject = UnicastSubject.create();

Observable.interval(300, TimeUnit.MILLISECONDS)
.map(l= ((I + 1) * 300) + " milliseconds")
.subscribe(subject);

sleep(2000);

subject.subscribe(s = System.out.printin("Observer 1: " + g));

sleep(2000);
}

public static void sleep(long millis) {
try {
Thread.sleep(millis);
} catch (InterruptedException e) {
e.printStackTrace();
}
}




p.228

import io.reactivex.Observable;

import io.reactivex.subjects.Subject,

import io.reactivex.subjects.UnicastSubject;
import java.util.concurrent. TimeUnit;

public class Launcher {
public static void main(String[] args) {

Subject{String) subject =
UnicastSubject.create();

Observable.interval(300, TimeUnit.MILLISECONDS)
.map(l = ((I + 1) * 300) + " milliseconds")
.subscribe(subject);

sleep(2000);

/] 7S] SHMHE X|&H5H7| {ai HEIFHAE
Observable{String) multicast = subject.publish().autoConnect();

/AW SHHE S8
multicast.subscribe(s = System.out.printin("Observer 1: " + s));

sleep(2000);

//5FHW S HHE S
multicast.subscribe(s = System.out.printin("Observer 2: " + s));

sleep(1000);
}

public static void sleep(long millis) {
try {
Thread.sleep(millis);
} catch (InterruptedException e) {
e.printStackTrace();
}
}
}

—



import io.reactivex.Observable;
import io.reactivex.subjects.Subject;
import io.reactivex.subjects.UnicastSubject;

import java.util.concurrent. TimeUnit;

public class Launcher {
public static void main(String[] args) {
Subject{String) subject = UnicastSubject.create();
Observable.interval(300, TimeUnit.MILLISECONDS)
.map(l = ((I + 1) * 300) + " milliseconds")
.subscribe(subject);

sleep(2000);
// HE{7l1e] SXHE X|5H7| fI6H HEIFHAE
Observable{String) multicast = subject.publish().autoConnect();

[/AHM SHHE S8
multicast.subscribe(s = System.out.printin("Observer 1: " + s));

sleep(2000);

//FHW SHHE S8
multicast.subscribe(s = System.out.printin("Observer 2: " + s));
sleep(1000);

}

public static void sleep(long millis) {
try {
Thread.sleep(millis);
} catch (InterruptedException e) {
e.printStackTrace();
}
}
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ExecutorServicels Z2IS REt02 QXI5h| W20 0fZ2|#040] Satet B2 XN SHX| XalZ sHot
Bict,

=
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Observable.just("Alpha", "Beta", "Gamma",
=

//CtS Ml 7HX] oMol A subscribeOn2 25 22 SutE L
Observable.just("Alpha", " o o " "Epsilon")

Delta", "Epsilon")

, Beta, Gamma, Delta’,

p.254

Received 5 on thread RxComputationThreadPool—2
Received 4 on thread RxComputationThreadPool—2
Received 5 on thread RxComputationThreadPool—2
Received 5 on thread RxComputationThreadPool—2
Received 5 on thread RxComputationThreadPool—1
Received 7 on thread RxComputationThreadPool—2
Received 4 on thread RxComputationThreadPool—1
Received 5 on thread RxComputationThreadPool—1
Received 5 on thread RxComputationThreadPool—1

g

Received 5 on thread RxComputationThreadPool—1
Received 5 on thread RxComputationThreadPool—1
Received 4 on thread RxComputationThreadPool—1
Received 4 on thread RxComputationThreadPool—1
Received 5 on thread RxComputationThreadPool—1
Received 5 on thread RxComputationThreadPool—1
Received 5 on thread RxComputationThreadPool—1




p.256

import io.reactivex.Observable;
import io.reactivex.schedulers.Schedulers;

import java.util.concurrent, TimeUnit,

public class Launcher {
public static void main(String[] args) {
Observable.interval(1, TimeUnit.SECONDS, Schedulers.newThread())
.subscribe(i = System.out.printin("Received " + i + " on thread "

Thread.currentThread().getName()));
sleep(5000);
}
public static void sleep(int millis) {
try {
Thread.sleep(millis);
} catch (InterruptedException e) {
e.printStackTrace();
}
}
}

—

import io.reactivex.Observable;
import io.reactivex.schedulers.Schedulers;

import java.net.URL;
import java.util.Scanner;

public class Launcher {
public static void main(String[] args) {
Observable.fromCallable(() =
getResponse("https: //api.github.com/users/thomasnield/starred")
).subscribeOn(Schedulers.io())
.subscribe(System.out: : printin);
sleep(10000);
}

private static String getResponse(String path) {
try {
return new Scanner(new URL(path).openStream(),
"UTF—8").useDelimiter("//A").next();
} catch (Exception e) {
return e.getMessage();
}
}
public static void sleep(int millis) {
try {
Thread.sleep(millis);
} catch (InterruptedException e) {
e.printStackTrace();
}
}
}




p.257

subscribeOn()2] FHAUA
=

subscribeOn()2] F2|AlEt

p.257~258

import io.reactivex.Observable;

import io.reactivex.schedulers.Schedulers;

public class Launcher {

public static void main(String[] args) {
Observable.just("Alpha", "Beta", "Gamma", "Delta", "Epsilon")

.subscribeOn(Schedulers.computation())
filter(s = s.length() == 5)
.subscribeOn(Schedulers.io())
.subscribe(i = System.out.printin("Received " + i + " on thread "

Thread.currentThread().getName()));
sleep(5000);
}

public static void sleep(int millis) {
try {
Thread.sleep(millis);
} catch (InterruptedException e) {
e.printStackTrace();
}
}
}

ol

import io.reactivex.Observable;
import io.reactivex.schedulers.Schedulers;

import java.util.concurrent. TimeUnit,

public class Launcher {
public static void main(String[] args) {
Observable.interval(1, TimeUnit.SECONDS, Schedulers.newThread())
.subscribe(i = System.out.printin("Received " + i + " on thread " +
Thread.currentThread().getName()));
sleep(5000);
}

public static void sleep(int millis) {
try {
Thread.sleep(millis);
} catch (InterruptedException e) {
e.printStackTrace();
}
}
}
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p.339
HHURLE I3 o B2 QU QIXt7} UL,
=

IHUXIE flet O ¥2 RHZEE HIMETH EXHSC,

XHHI=(JavaDocs)2 &116HH EICt
=
XHt=(JavaDocs)2 EHst2Hhttp://reactivex.io/RxJava/javadoc/).




p.345

22022 AISStT o
=
Z20i23} &l hR2C] BE MEa| HMS U HMIHs IHSO2 Iy NS MalshEr:,

HI
Kl
M
18
Hm
o
=
2
In
i
ra

L= XS 2 M| ME XMalshFE= 20| AH-O|C

Cia Efgist drloz

BN

Cid HSE WAooz

HX] AAQI lterable{T)E Flowable.fromlterable()2| QX2 At2SH= 242 12SHEXt
=

M| AAOQI lterable{T)E Flowable.fromlterable()0f| AF25H= A2 12{6HE X},

p.346

967H2| HH=0| HX FEA|EICE

=

QN MAME| 9671 HHE0| HA CIRAEZIOZ ZEA|EIC},

p.349

Flowable.generator()
=

Flowable.generate()

Flowable.generator()2 AF235H= 20| RtC}
=

Flowable.create()LH4! Flowable.generate()S AI23t= 240] WL},
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